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III. 0oooo I

m 100000 000 SO0 pOOOOOO0OTeSO00000 135
gbooobgoog

TgS = {WPZTPS%R,WP ooooo }

000 S0 00000000 TpsS,I3pSO000 nO00000O00B0OO0
gboooooo

00 3.1. TpSOO00O0UDO {ey,...,e,} 0000

0000 73S 00000 {u),...,w"} 00000000000000
{wl,...,w"} 0 T3S 0000000

00310 {w/}0 TpSOO0 {e,} 000000OO00OODOOOPODO
0SO000000 (w,...,u”) 0000

(ignqél> oooooo (du', ... du™)
oooo

00 PODO T3S0O00 wp 00000000 w0 10000000
000000 wDOODOOODO XO0000 w(X)O SO0O00O000000
OX0O00O0000 w(X)0OOOOOOO0OO0O w0O0000 10000
0000000 Y000000 (u,...,w®) 0000000000 1000

00 wO0Ou!,...,w» 0000000 a1, ...,a, 0000

(3.1) w=aydu' + -+ a, du”

"2017 0 070 040 (20170 70 11000)
NO0DO0O0000000000000000000000000000000

00000000000000000 SO00000000 f0000
df(X):=Xf (0 X0000000)

0000 df0 SO0 10000000000000 f000000000
0000000000 (f)000000

_Of
A =2 G
j=1
0ooooooooo

m 200000 00000000 SO00nR=20000000 TpSxTpS
00000D00000000000D000000 A273S000000 PO
000 ap e A2T3S 00000000 «02000000000000 «
0000000000000000000000 X,YO0O0O00 o(X,Y)O
000000000000000200 100000 w,p00000000
00 X,YOoOOoOOo

wAp(X,Y) = w(X)u(Y) —w(Y)u(X)

00000 wAp O 20000000000000 SO000 20000
0D0000000SO00000200000 «0000000 (v},v?) 00
000000000 a(ut,w?) 0000

a = adu' Adu?
oooooOoo
0000100000 wOOD0ODO0 X, YOOoo
(3:2) (X, Y) = X (w(Y)) ~ ¥ (w(X)) ~w([X,Y])

ooobobD dwO 2000000000000 dwD wODODOODODOOO
000000 So0o00 2000000000000

w = wy du' + wo du? oooo dw—(?%—?@) dut A du?®
u U
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oopooooooooooooon fooooO
(3.3) d(df) = 0
gooooa

m 00000 OO0 (S,ds?)0200000000000000000UCS
002000000000 {ej,e,} 0 U000 PO TpS0000 (, ) = ds?
0000000000000000000O{e;,e;} 00000020000

00 3.2.200000000000000000 (U;u!,w?) 000000
ooooooo

00. 00 {8/0u!,0/0u2}0000000000000000000000
0 MI-100 O

00 3.3.2000000000 (S,ds?) 000 POOOOOOOOO 20
000000 {er, e}, {&1,6,} 0000 POODOOOODO00ODOO0
0¢000D000

sinf Zcosf

(3.4) (é1,€2) = (e1,e2) (

cosf) Fsin 9)

ooboobooooog
ugb. bDooOooooboooobooboboboban O

m 00000000000 2000000000 (S,ds?)0000 U O
000000 {e1,e:} 00000000000000 ds?00000000
000 vooooooooooo

00 3.4. 00000000 XOOOO (Vxej,e;) =0000000000

,M(X) = <VXe2,61>

2)000000an orthonormal frame
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oooo0 pwOUbOO100D000O00OO0

(3.5) Vxer = —u(X)es, Vxes = pu(X)e;

gooogd

O0. 0000000000000 (e;,e5) =96,;,0000000(29)00
(3.6) 0= X (e;,ej) = (Vxe;, e;) + (e;, Vxej)

000000000 ¢=,0000000000000000 (Vxej,ej)=0
oooooobooobob 2500

(o))
RRAN
O00000p010000000000O0Vyxe:O ej,ec 00000000
000000000 ec 0D00O0O0ODO OOUDOOODO
Vxes = (Vxes, e1)er = u(X)es.
000 (36)0 i=1,j=2000000
Vxer = (Vxei,ez)ex = —(Vxes, e1) ea = —pu(X)es

gdddddooguogd O

0 (3.5) 0000100000 0000000 VOODOOOO {er,e0)

00o0O0o0ooo® o000

OO0 3.5. 2000000000 (S,dsQ)DDD[IDD {e1,e2} 00000
0000 w0000 {e1,e.} 000000000 10000000 {w!,w?}
g

dwt = w? A p, dw? = —w' A p

gooaoo

3)0 0000 the connection form
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O0. 00000o0OO (29 00

[61, 62] = v6162 — v6261 = ,u(el)el + ,Lt(ez)eg.

000000 (3.2) 0 w'(e;) =46, 00

dw' (e, e2) = erw’(e2) — eaw' (1) — w'([er, e2])
= —pu(er),
(W? A p)(er, e2) = w?(er)u(ez) — w?(ez)p(er) = —p(er)
do? (e, e2) = e1w’(e2) — e1w’(er) — w’([er, es))
= —u(e2),
(W Ap)(er, e2) = w!(en)u(ez) —w'(e2)u(er) = ples).
SO200000000000000 X,YOoood
dw'(X,Y) = (@ Ap)(X,Y),  dw(X)Y)=—(w' Ap)(X,Y)
gooooo O]
00 3.6. 20000000 {er,ex} O {é1,6,} 0 (3.4) 00000000

00000 {e,e;} 00000000 p 0O {é1,6,} 00000000 40
fi=+(p—df) 00000

O0. 0O0250003400000000 III-200 O

0 3.7.2000000000 (S,ds?) 000000 {ey,e,} 000000
00 0000 du(er,e;) 00000000000 00000000000
000

00. O (34000000000 {é,6,}) 000000000 000
00003600 (3.3) 000200000 di=+du0 000

dfi(éy, eés) = £dji(cosfe; + sinfey, —sinfe; + cos fes)

= *dji(e1, e2) = du(es, ez)
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oobooboooooooo O

00 3.8.2000000000000000 {e,ex}000OOODOODO
000000

K = d,u(61762)
000000000 0000000000000 90

OIooooooo0O0O000 RODDDDDOOOOOOO ROOO
Oooo0o0oooooooooooo [II-3m

00 3.9.0 (211) 000000000000 ROUODOUDOO
K:<R(€1782)62,€1>

000000000 {e1,ex} 000000OOODOO

ooo02000000000000000KOOOODOOOOOOOO
ooooooboooobooboooo

00 3.10. 000ODODOO (S,ds?), (S,dt?) 0000000000000
0000000000000000000000000000000 000
0000000000000000000000 0000000000

gooobosiooooo0oooooooboboooobooboOoOoOoOoOoOo

(R(X,Y)Z,W) = — (R(Y, X)Z,W) = (R(Z, W)X, Y),
R(X,Y)Z+ R(Y,Z)X + R(Z,X)Y =0

goooo 2000000000000000DO

s OJO0000000O0C0C000O00O000 OooooOo2900000000
gboboboboboboboboobn

00 3.11. 2000000000 (S,ds?) 000 % 0000000000
0 KOOOOO 0000000000

YR} 000DO0D0O0000O00000000000000000000000000000000000
0000000000000 000000000000000000000000
5000 flat
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00 3.12. 2000000000 (S,ds?) 00000 (U;ut,e?) 0000
00000 ds? = (du')?+(duv?)? 000000000 000000000
oooooOoDOo

00. DO0000e;:=08/0w (j=1,2)00000{e;,e;} 000000
00000000000 240 (29) 00

[61, 62] = V6162 — v€2€1 =0.

gobooooooon pO

1
H(el) - <V6162361> - <v€2617el> - 7562 <el7el> = 0?
p(ez) = (Ve,e2,€1) = ea (e2,€1) — (€2, Ve,e1) = (€2, Ve, e2) =0
000 deg 0000O0ODOOODOO K=00O O

00 3.13(002900). 2000000000 (S,ds?) 000000000
000000000 PeSO00UD0D000 (2,y)0 ds? = (dz)?+(dy)?
00000000000

00. O0POOOOOOOUOPOOO (0,00000000 (u,v) 00
00000 {e;,e;} 00000000000000000000 0000
p0UDOD1000000000

uw=adu+ Bdv
00000000 o,80 (u,v) D0DODOOOOOOOODO
dp = (By — o) du A dv
gooooooo
(3.7) Bu—a, =0

gooooon
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O0o0o0000o02x2-00000000000 FOOOOOODDO

(3.8) 8—}-:}'9, ai:f/l, F(0,0) =id

ou ov
—a 0 -5 0

0 1
x%—Au—QA+AQ=u%—ﬁw< 10):0

000000 (37)00

00000021000 (21)0000000000 U00000000
000000 (3.8) 0000 F:U—-My(R)OOOOOOOD0O0O0D000O
2,A0000000000000000000 ide SO(2)0000F O
SO(2) 0000000000 FO000D000OOOO

F = (a1, as)

00000ay, a0 (u,0) 0000000000000 0O{ay,a2} 0 R0
0000000000000

da; = (a1)y du+ (a1), dv = —aas du — fag dv

= —haz,

das = pay

D000000000R?200000UCSO0 100000
W = alwl + aswo

D0000D000 {wh?} 000000 {e1,e.} 00000000000

3.500

dw = daj; Aw' + a1dw! + das N w? + asdw?

= —asu Aw! + ardw' + aii A w? + agdw? = 0.
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obooobooooooooooob 11e00o O
df = w, f(0,0)=0
0000 f:U—-R20000000000000
df (e1) = aq, df (e2) = as
000o0oO00oooooog Qevogoo
(df)q: ToS — TyqR* = R?

0000000000 f(u,v)=(z,y) 00000(z,y) 000000000
0000000000 O

003130000. 0000000000 000000000du=000
000000 PODODOOOO p=df00000000 60000000
0000000000 11600000 (34) 00000000000 {&y,6}
0000000000000000 400000000000000{&y,6}
000000 {4,342 00000003500

0000000000000000D0000000 1.16000 dr =&, dy = &2
00000000 (x,y) 000000 0OOUOOOOOOOOOOO 1400 O
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I1I-1

I11-2
I11-3
ITI-4
I1I-5

O O II1

2000000000 (S,ds®>) 00000 (U;w',v?) 0000000000
ooo

E = g11, F = gi12 = go1, G = g2
000O000{e/6ut,d/0u?} 0000000000000D00000D000
00000 {e,e} O 9/0ut, 8/0u?, E, F,GO0000000000
gOd 360000000
00390000000
g02900000000000 (x,y) pood0o0o0ooooooOoooono

OIIo0oomoo 2100000000000000000000G0O00
goobooooooooooooo



